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Objectives for Competency Test Correlated with Test Questions.

Order of Operations ( No grouping/ No exponents)
Order of Operations

Absolute value with addition and subtraction.
Simplify algebraic expression (Distributive property).
Evaluate algebraic expression

Solving linear equations

Solving linear equations (may have fractions)
Solving literal equations

Translate word problems (numbers)

Solve word problems

Translate word problems (proportions)

Simplifies exponential expression (Positive integer exponents)

Simplifies exponential expression (Positive & negative integer exponents)
Simplifies exponential expression (Positive & negative & zero integer exponents)

Scientific notation (to and from)

(Polynomial) — (Polynomial)

(Monomial)}(Binomial)

(Binomial)(Binomial)

Factoring a polynomial — Greatest Common Factor(s)
Factoring a polynomial — Difference of Squares

Factoring by grouping

Factoring a trinomial

Simplifies a rational expression — Reduce by factoring
Solving a quadratic equation by factoring (a = 1)

Solving a quadratic equation by factoring (a = 1)

Simplify square root of a monomial

Simplify square roots in a polynomial using distributive property
Solving a linear inequality

Identify intercepts of a linear equation (ax + by =¢)

Match linear equation to graph (ax + by =c) or (y = mx + b)
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State Test Review:

. Simplify: . 3-9+8+5

C 8 C 10 C 46 C 34

Simphfy: 16-20+10+3
c .Ll{‘i cC17 C21 C __14?

Simplify: 6+3¢6+3¢4-3
Ce9 €3 C18 €27

Simplify: 25— (4)>+ (11-7) 5
cpos €5 cCc8

Simplify: (12-9)2%+3
c21 €1 €3 C2

. Simplify: (3 -72-(+3)°

C 26 C -2 €232 €200

Simplify: 2 +2(9-3)?
C 144 C 48 C 74 €26

Simplify: |-16] + |-5] - |16]
€27 €5 €37 €5
Simplify: -|-3]+ -9}

€12 €-12 €6 C6
Simplify: |5+ (<16)| +5

C-16 C16 € 6 C 26

Simplify:  -8z-6(z+5) +5

C 38245 € —14z-1 € -14z-25 C -14z-30

Simplify:  -S[-6(r-3) +1]
C 25(+90 € 25(-90 € -351+90 € 25/+90

Q1,2,3,4
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State Test Review: Q5,6,7,8

1. Evaluate the given expression when w = —4: 4w? + Sw+3
C 4 C81 €87 C 47

2. Evaluate the given expression when x = -6,y =2,z=-T:

—4xy —z
€55 C 41 €41 C-55
3. Solveforq: 4(-4g+9) =-2q+3
Cq=3 Cq=-% Ta9=4 Cq=-%¢
4. Solve for x: —8(—3x—8) =8x-17
5. Solvefory: -8(3y+6) =2(y+3)
- 2 2 -
Cy=3 Cy=-8 Cy=F Cy=%
6. Solve for r: $r-3=5
Cr=2 Cr=32 Cr=3 Cr=2
7. Solve for r: ~1r-8=-+4
(‘1—_—..2.74_ ("(_:% ("t-_-_.% (‘t-_—___l7£.
8. Solve for ¢: 2q+2 =5Z—
9. Solve for u: x =-2z—-4u
Cu=-dx+dz Cu=-—dx+2z Cu=—x-2 Cu=-1tx-—1z
10. Solve for y: u = 6zy
(‘y-——.z_% (‘y:.é.u_%z (\yz_.z_.'zi. ry=“;6

11. Solve for W- P=2L+2W
Cw=2P-L CW=4iP+L CW=P-1 C W=3P-L

12. Solve for H: = 81

CH=24B CH=14B CH=14 CH=24

13. Solve for r: A=nr?

Cr=nJAd Cr=Jnd Cr=n4* Cr=JA=+n FOQ.V\R
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State Test Review: Q9,10,11

. If 6 imes a number is increased by 19, the result is 10 less than the square of the number.
Choose the equation that could be used to find this number, x.
Cox+19=x2-10 € 6(x+19) =x2-10 € 6x+19=10-x* € 25r=x?-10

. The sum of a number and 2 is 20 more than twice the number.
Find the equation that could be used to find this number, x.
C x4+2=2x+20 € x+2=2x+20) Cx+2=x2420 € 2x=2x+20

. If a television costs $304 after a 20 % discount, what was the original cost?
€ $364.8 C $3800 € $2840 € $1520.0

. The length of a rectangle is 14 feet more than the width. The perimeter of the rectangle is 88 feet.
- Find the length.

€ 37 feet € 51 feet € 29 feet € 15 feet

. Two cars leave the same point at the same time traveling in opposite directions. One car travels

west at 30 mules per hour and the other travels east at 70 miles per hour. In how many hours will
they be 260 miles apart?

C 2 hours C L hours € 260 hours € L hours

. Find the amount of money now necessary to be invested at 8% simple interest to yield $ 220
interest in 4 years.

C $1100 € $687.5 € $440.0 € $5500.0

. The perimeter of a triangle is 24 inches. The length of the middle side is 3 inches more than the
length of the smallest side and the largest side is 5 inches more than twice the length of the
smallest side. Find the length of the smallest side.

€ Sinches € 6inches € 3inches € 4 inches

. Identify the proportion listed below that solves this problem:

A car can travel 387 miles on 14 gallons of gasoline. How far can the car travel on 19 gallons?
CM e oMM e w1 |

187 19 19 x 14 19 x 14

. ldentify the proportion listed below that solves this problem:

If 41 pounds of jelly beans cost 92 cents, how many pounds jelly beans can be purchased for 151
cents?

cd_ == c X 2?2 2 _ x c M 151
92 151 151 x 41 151 x 92

Forwm B



State Test Review: Q12,13,14

This 1s a review for Expressions using positive, negative, and zero exponents.

. Simplify (@*b3)*(@’b3)
C gi5p12 & gispd € g% C gi2pn2

(2.X6y3)3
x3
c lesy9 c 2x2ly9 C 8x2'y9 c 8XIS_}-'9

. Simplify:
s

. Simplify: (21‘x°)~

C 10°x3 € 32120 C 32¢%° € 10/

5,,0.,7
. Simplify: 54—%

x4tz
’ 5
c_l_ X ¢y 0 X
X525 6 3825
- 3,,4,6
Simplify: X2
x9y023
3,4 6,4
cZ e 1 XV e
X6 x6y4z3 z
153
. a'b
Simplify: T
C ’lb‘ abt C & ¢ :1b4
) -4ps
Simplify: 4
a’b3
7
R L

C .3';. C \)‘6 C v‘ozz C 1

z w16

. -9
. Simplify: (z‘w'-‘)

~ e K . :36
c = C B3y6 C c

s 7
el w?

Foow B
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State Test Review: Q15,16,17,18

This := a review for Scientific Notation and Operations with Polynomuals.

Convert to standard form: 1.85 x 10¢
€ 00.000000185 € 1850000.0 € 18500000.0 € 00.0000185

Convert to standard form: 9.54x 1077
C 954000000.0 € 00.0000000954 € 00.000000954 € 9540000.0

Convert to scientific notation:  031200000.0
C0312x10% € 3.12x10% € 3.12x107 € 3.12x1077

Convert to scientific notation: 0.000000285
C285x107 € 285x10°7 € 0285x10° € 285x10°¢

Simplify. (7x? —2x —8) + (6x2 —6x +5)
C13x2-8x-3 € 13x2—-8x+13 € 13x2-4x-3 € x2+4x-13 .

Simplify. (7x* +2x—7) — (4x2 - 8x+7)
C3x2410x C 3x2-6x-14 € 3x2+10x—-14 € 3x2 -6x

Simplify. (5x% — 2x +4) — (4x2 — 5x - 5)
Cx243x+9 C x2-3x-1 Cx2-Tx-1 C x? +3x—1

Simplify:  7x(5x —4)
C 35x2-28x € 7x2 € 12x? -28x € 35x% +28x

Simplify:  —6x(—7x +5) _
C 42x2 -30x € —42x2-30x € 12x2 € 42x2 +30x

Simplify: (4x-9)(2x-3)
C8x2—6x-27 € 8x2+6x+27 € 82 —-30x+27 C 82 -30x—-27

Simphify: (S5x+6)(-3x-2)
C 15x2-28x-12 € —15x2 —8x—12 € —15x2 -28x—12 € —15x2 +28x - 12

Simplify: (5x +2)(9x2 + 4x —5)

C 45x3 +38x2 - 17x—10 € 45x* —=38x2 +33x-10 € 45x3 +2x2 +33x- 10
C 45x3 +38x2 +33x+ 10

Simplify:  (5x® + 8x +5) =+ 2x

C 502 cC 3 3 ¢ S 2
2x +13 2x+4+2x 5x+8+2x 10x% +16x + 10

F oz B
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State Test Review: Q19,20,21,22

This is a review for Factoring of GCF, difference of squares, grouping, and trinomial.

. Factor completely:  34w?u'® + 14w™24'¢ + 22w'248

C npt2ys (l7w8 12 4 Twoy '°+ll) c 2w“uz(l7w5u + 7wt 8+lluf‘u3)
C 2wihy 5(17u"u"+7uz‘ ”+ku) C 2wu(l7w‘9 7 4 7w3ly + 1wty )

Factor completely: 45w — 27w8/*
C owst (5w3r'2=3) € owsr (Swir12 - 9r) € owsr* (Swr'2 - 31)
C 9wt (Sw3t‘ - 3w2t)

Factor completely: x2 -4

(‘(xzt—Z)(x2+2) C (x+6)(3x-2) ("(x—Z)z P(x—Z)(x+2)

Factor completely:  y2 — 16/2
r(y+81)(y—21) C (y+20)(y-8) € (y-ar)(y+41) "“(y—4l)2

Factor completely: 552 + 4sy + Ss + 4y
c (s+ 1)(5s+4y) C (s- l)(5s+4y) C (s+y) (5s+4) c (s+ l)(Ss—4y)

Factor completely:  xt +xk + at + ak
C x-a)(t+k) € x-a)(t-k) € (x+a)(t-k) € (x+a)t+k)

Identify a factor of the following trinomial: | 202 —t-1
C (4+1) € (1+2) € (4-1) € (1-1)

Identify a factor of the following trinomial:  8w? — 41w +5
C (8w+5) € (w-1) € (w-5) € (8w-5)

Identify a factor of the following trinomial: ~ 7¢% — 47q + 30
€ (¢-6) C (¢-5) € (79-6) € (79+6)

ldentify a factor of the following trinomial: 822 - 35z + 12
C (z-3) € (2z+1) € (2z-1) € (z-4)



State Test Review: Q23,24 .25

This is a review for Simplifying a rational expression by factoring and Solving an equation by

factoring.

L

2y
Simplify: X -x-42

x? -3x-28
- x+6 c x+6 c x—6 - x—06
x—4 x+4 x—4 x+4

2
Simplify: X —x+4
22— 5x+3

c 3x—-4 - 3x+4 - 3x—-4 c x—4
2x -3 2x -3 2x -1 2x -3

2
Simplify: = ~_toX+6
2x2+3x -2
- x+3 - x+3 c 2x+3 c x—3
x+2 2x—1 2x -1 2x -1

Solve: x2+10x+21 =0
Cx=7x=3 Cx=-T7x=3 Cx=21x=-3 Cx=-"Tx=-3

Solve: x2-3x-10=0
Cx=5x=2 Cx=5x=-2 Cx=-5x=2 Cx=—-1x=-2

Solve: x2-x-6=0

Cx=1x=3 Cx=2x=-3 Cx=-2x=3 Cx=-2,x=-3

Solve: 10x2 -x-21=0

Cy=_2 y=_1 = 3 =1 Cy=3 y=_1 C y=_2 x=21
x=-2x=-1 Cx=3 x= x=3x ! x x =3

Solve:  25x2-5x-2=0

Cxsx=i Cre=hix=} Cx=tr=-i Cxo—hix--f

Solve: 14x2+37x+5=0

Cy—_1L y=23 = = -2 =L xy=3 =_1 y=_3
x=-tx=3 Cx=7x=-3 Cx=4x=3 Cx=-4x 2

Tonw B



State Test Review: Q26,27,28

This is a review for Simplifying Square Roots and Solving a Linear Inequality.

. Simplify completely: JZOz"ys
(~4y‘z3,[5_z c 2y‘,/527 (“4y“z31/527 C 2423 5z

Simplify completely: 3 J64w7u‘

Crouiwd fw € 242w’ € 2003w C 192uPw? Juw?

Simplify completely: ,/—33 + ,/—8_
cefz C2J10 C182 €22

Simplify- completely: JT - ﬁ
C6f3 €45 CoN2 C 2443

Simplify:  J3(J2 +2/5)
CJ6+30 C24+21 €221 € J6 +2/15

Simplify: 2 (5 +4J7)
C8J6 C4+2/6 € J10+4J14 C J10 +2J14

Simplify: 5 @15 - J5)
C 830 C 442430 € 2043 -5 € 5J3 +6J5

Solve the inequality: 7(3x+9) < 17

rx<%‘]3— rx>—%5— “x>-% (‘x<-;‘—i

Solve the inequality: 18x+ 14 < 50x +9
Cx>% Cx<-% Cx>-3 Cx<
Solve the inequality: 23x+1 <32x+7

Cx>2 Cx<2 Cx>-1 Cxc-1

Corm R



State Test Review: Q29,30

This is a review for Graphing linear equations and finding x and y intercepts.
1. Find the x-intercept for: -2x — 6y = 7

c (0-2) € (0-2) " (-3-3) < (-30)

2. Find the y-intercept for: 6x -4y =9

< (39) < (0-3) < (03) < (3-3)

3. Find the x-intercept for: —6x — 9y = -2
c(03) < (30) < (+3) < (03)

4. Find the y-intercept for: 2x — 6y = —8
c (0.4) € (4,0) ¢ (44) ¢ (0,4)

S. Find the graph that best matches the given linear equation: ~ y = 2x—3
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- 6. Find the graph that best matches the given linear equation:

(u

4x +2y = 12
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State Test Review Answers (By Number)
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